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3− 5
10− 20
50 30− 35

100 5 120
50 30− 35

50 20

2

2 5000
90 ◦ 2

9300 acc = 100 1 10
5

2 10
3− 5

1 5
1 70

1165 65− 75 ◦ 1







YBa2Cu3O7−γ



p

s

YBa2Cu3O7−γ

c

HgBa2Ca2Cu3O8+δ

HgBa2Cu04+[δ]



3



Bi2Sr3−xCaxCu2O8+y

YBa2Cu3O7−γ

YBa2Cu3O6+γ

Bi2Sr2CaCu2O8+δ

Tc



YBa2Cu3O7−γ

YBa2Cu3O7−γ

YBa2Cu3O7−γ

bi2sr2cacu2o8+δ





YBa2Cu3O7−γ

YBa2Cu3O7−γ





YBa2Cu3O7−γ

YBa2Cu3O7−γ 3

a YBa2Cu3O7−γ

YBa2Cu3O7−γ 4

YBa2Cu3O7−γ

al2o3 3 3 3



3 3 3 3

4 YBa2Cu3O7−γ

YBa2Cu3O7−γ

a YBa2Cu3O7−γ

yba2cu3o7−δ

YBa2Cu3O7−γ

YBa2Cu3O7−γ

YBa2Cu3O7−γ



YBa2Cu3O7−γ

YBa2Cu3O7−γ

YBa2Cu3O7−γ

2 3 7−δ

YBa2Cu3O7−γ

YBa2Cu3O7−γ

YBa2Cu3O7−γ

YBa2Cu3O7−γ

YBa2Cu3O7−γ

YBa2Cu3O7

Ge1−xAux



YBa2Cu3O7−γ

YBa2Cu3O7−γ

YBa2Cu3O7−γ

yba2cu3o7−x

YBa2Cu3O7−γ

YBa2Cu3O7−γ



Tc

Tc




